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Please check that this question paper contains 2 printed pages.

Code number given on the right hand side of the question paper should be written on the

    title page of the answer-book by the candidate.

Please check that this question paper contains 3 questions.

Time allowed : 50 minutes 






Maximum Marks : 25
Note :

 (i) All questions are compulsory.

(ii) Answer the questions after carefully reading the text.

1. Answer the following questions :

(a) Define network. Name the different types of it.





       2
(b) Why do we need networking?
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(c)  Differentiate between dedicated server and non-dedicated server.


       2

(d) Give two disadvantages of each type: (i) Linear Topology (ii) Circular Topology        1+1=2
(e) The Great Britain Organisation has set up its new Branch at Srinagar for its office and web      based activities. It has 4 wings of buildings as shown in the diagram :
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	Center to center distances between various blocks
	
	Number of Computers

	Wing X to Wing Z
	50 m
	
	Wing X
	50

	Wing Z to Wing Y
	70 m
	
	Wing Z
	30

	Wing Y to Wing X
	125 m
	
	Wing Y
	150

	Wing Y to Wing U
	80 m
	
	Wing U
	15

	Wing X to Wing U
	175 m
	
	
	

	Wing Z to Wing U
	90 m
	
	
	


(i) Suggest the most suitable cable layout of connections between the Wings, and topology.       1
(ii) Suggest the placement of the following devices with justification:


         1

(1) Repeater 

(2) Hub / Switch

(iii) The organization is planning to link its head office situated in Delhi with the offices at          Srinagar. Suggest an economic way to connect it; the company is ready to compromise on the        speed of connectivity. Justify your answer.
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2. Answer the following questions :

(a) Define the following terminologies:






1x4=4
     (i) Freeware  (ii) Open Source Software 
(iii) Shareware

(iv) Proprietary software

(b) Give the full forms of the following abbreviations:



         ½ x 6=3
    (i) AAC
(ii) ASCII 
(iii) ISCII
(iv) ODF 
(v) TTF       (vi) PNG
3. Answer the following questions :

(a) What is RAD ?









         1

(b) What is the difference between Event Listeners and Event handler ?


         1

(c) The GUI application is drawn below for answering the questions : 


         4






	Sales
	Commission Rate

	30001 onwards
	15 %

	22001 – 30000
	10 %

	12001 – 22000
	7 %

	5001 – 12000
	3 %

	0 – 5000
	0 %


Write the code in the Calculate Commission command button to the above calculations.
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